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QUESTION 1

Which of the following statements is not a supported matching option of the Lookup Stage?
A. Equality match

B. Caseless match

C. Range on the Target Link

D. Range on the Reference Link

Correct Answer: C

QUESTION 2

In Blueprint Director, how do you easily recognize that an element contains a subdiagram?

A. There is a little ?icon associated with the elementThere is a little ??icon associated with the element
B. There is a little green arrow associated to the element

C. There is a little ??icon associated with the element

D. Double clicking the element is the only way to find out

Correct Answer: C

QUESTION 3

In a Job Sequence, what is the purpose for the use of Checkpoints?
A. Monitor performance and failure for each stage

B. Automatically restart a job

C. Record the log information for each trigger

D. Restart a job from the latest Checkpoint in case of job failures

Correct Answer: D

QUESTION 4
What objects below will you NOT be able to view with the Repository window in DataStage Designer Client?
A. Parallel Jobs

B. Table Definitions
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C. Logs
D. Sequence Jobs

Correct Answer: C

QUESTION 5

Which description below about the Sort Stage is invalid?

A. Sort Stage uses temporary disk space while performing sort

B. It has a property to create a Key Change Column

C. All the incoming records must have different values for sorting key
D. Sort can be executed in sequential mode or parallel mode

Correct Answer: C

QUESTION 6

Which type of jobs can be compiled into Orchestrate Scripting Language (OSH)?
A. Server jobs

B. Parallel jobs

C. Sequence Jobs

D. Mainframe Jobs

Correct Answer: B

QUESTION 7

Which of the following stages is NOT a file data access stage?
A. Sequential File Stage

B. Transformer Stage

C. Dataset Stage

D. FileSet Stage

Correct Answer: B

QUESTION 8
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With Information Services Director, you can deploy services that package the following information provider types:

|.DataStage and QualityStage jobs II.SOAP over HTTP IIl.DB2 and Oracle SQL statements IV.Federation Server
queries

AL IV
B. I, I, IV
C.LIL
D. I, 1, IV

Correct Answer: D

QUESTION 9

Which of the following statements about the Lookup Stage is correct?
A. Itis a Real-Time Stage

B. It combines data horizontally

C. It can have only one input link defined

D. The default partition method for Lookup is Hash

Correct Answer: B

QUESTION 10

Which of the following statements about partitioning algorithms is correct?

A. MODULUS and HASH ensure balanced data volumes in all the partitions

B. For the Lookup reference stage, DataStage always uses the MODULUS method

C. SAME patrtitioning method is the fastest algorithm because it does not require additional processing
D. The grouping methods available in the Aggregator stage are MODULUS and HASH

Correct Answer: C
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